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A3 —2 EEYICERIHLBESNHEEIC Fﬁ?%@lﬁ(vm) _ _BREEE | porwlE
SEREONE | BmEs 011A0692 [ L3 M | PrEHM | AT
) SERMOTIRICHET S 1M ZER A
ﬁg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
= = AN T A\ od = = T A\ = A\ = | =
7 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 |1 000 ~ 477 59.50 | FnUS | 000 ~ 000| 1.74 8.77 Zhn st 1.00 | 6.00 ~ 5.00 59.50 | TS | .00 ~ 5.00| 1.74 8.77
2 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 506 63.05 | FnLs | 0oo ~ o0.00| 1.64 829 Zhn Lot 1.00 | 6.00 ~ 5.50 63.05 | Thst | .00 ~ 550 1.64 829
3 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 506 63.05 | FnLs | ooo ~ o0.00| 1.64 8.29 Zhn st 1.00 | 6.00 ~ 5.50 63.05 | Ths | .00 ~ 550 1.64 8.29
4 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 729 9289 | =N | 000 ~ 729 255 12.89 zhLst 1.00| 6.00 ~ 1140 92.89 | #hLS | 5,00 ~ 11.40| 2.65 12.89
5 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
Th st 1.00 | 0.00 ~ 729 9289 | =N | 000 ~ 729 255 12.89 zhLst 1.00| 6.00 ~ 1140 92.89 | #hLS | 65,00 ~ 11.40| 2.65 12.89
P 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — —
FhLst 1.00 | 000 ~ 617 77.44 | FNLS | 000 ~ 000| 1.76 887 znsn 100|500 ~ 712 77.44 | EnS | 500 ~ 712)| 1.76 887
7 100kN/m#E#BZ 5| 1.00 | 000 ~ 064 109.47 |3mZEBzB| — ~ — — — | 100kN/miZ#82 5| 1.00 | 1058 ~ 1237 109.47 |3mZ#BzB| — ~ — — —
ZTh Lt 1.00 | 064 ~ 842| 100.00 | EnLs | 000 ~ 842| 224 11.33 ZhLst 1.00 | 6.00 ~ 1058| 100.00 | TnLSY | 6.00 ~ 1237| 2.24 11.33
8 100kN/m%E Bz 5| 1.00 | 000 ~ 003 100.45 |3mZEBZB| — ~ — — — | 100kN/mi&E# 25| 1.00 | 1259 ~ 11.49| 100.45 |3m%E#z2Z| — ~ — — —
Thilst 1.00| 003 ~ 782 100.00| ThLs | 0oo ~ 782|201 10.15 TnList 1.00| 5.00 ~ 1139 100.00 | TS | 5,00 ~ 11.49| 2.01 10.15
9 100kN/m%E 8% %| 1.00 | 000 ~ 003 100.45 |3m&EBZB| — ~ — — — | 100kN/mi&E#Z2 5| 1.00 | 1239 ~ 11.49| 100.45 |3m%E#z2Z| — ~ — —
Thilst 1.00| 003 ~ 782 100.00| ThLs | 0oo ~ 782|201 10.15 TnList 1.00| 5.00 ~ 1139 100.00 | TS | 5,00 ~ 11.49| 2.01 10.15
10 100kN/m%E#BZ2 5| 1.00 | 000 ~ 029 104.26 |3mZEBZB| — ~ — — — | 100kN/MiE#Z2 5| 1.00 | 1054 ~ 11.31| 104.26 |3m%x#Ez5| — ~ — — —
Thilst 100029 ~ 807 100.00| ThLs | 000 ~ 807|221 11.17 ZnList 1.00| 5.00 ~ 1054 100.00 | TN | 5,00 ~ 1131|221 11.17
11 100kN/m%E#BZ5| 1.00 | 000 ~ 029 104.26 |3m&EBZB| — ~ — — — | 100kN/miE#Z2 5| 1.00 | 1054 ~ 11.31| 104.26 |3m%E#Ez5| — ~ — — —
Thilst 100029 ~ 807 100.00| ThLs | 000 ~ 807|221 11.17 TnLlst 1.00| 5.00 ~ 1054 100.00 | TS | 5,00 ~ 1131|221 11.17
12 100kN/m%E 8% 5| 1.00 | 000 ~ 036 10537 |3m&EBZB| — ~ — — — | 100kN/mi&E# 25| 1.00 | 1086 ~ 11.96| 10537 |3mEx#Ez5| — ~ — —
Thilst 1.00 | 036 ~ 815| 100.00 | #his | 000 ~ 815| 207 10.46 TnList 1.00| 5.00 ~ 108 | 100.00 | ThLS | .00 ~ 11.96| 2.07 10.46
13 100kN/m%E#8Z%| 1.00 | 0.00 ~ 036 105537 |3m&EBZB| — ~ — — — | 100kN/MiE#Z2 5| 1.00 | 1086 ~ 11.96| 10537 |3mEx#Ez5| — ~ — — —
Thilst 1.00 | 036 ~ 815| 100.00 | #hs | 000 ~ 815| 207 10.46 TnList 1.00| 5.00 ~ 108 100.00 | ThLS | .00 ~ 11.96| 2.07 10.46
14 100kN/m%E#8Z2%| 1.00 | 000 ~ 074 111.06 |3mZEBZB| — ~ — — — | 100kN/MiE# 25| 1.00 | 1055 ~ 1267| 11106 |3m%E#Ez5| — ~ — — —
Thilst 100|074 ~ 853 100.00| ThLs | 000 ~ 853|222 11.21 TnLlst 1.00| 5.00 ~ 1055 100.00 | TNLAS | .00 ~ 1267| 222 11.21
100kN/m%E#8%x%| 1.00 | 000 ~ 074 111.06 |3mZEBZZ| — ~ — — — | 100kN/Mi&E# 25| 1.00 | 1055 ~ 1267| 11106 |3m%E#z5| — ~ — — —
% ZhLlst 1.00 | 074 ~ 853 100.00 | =hst | .00 ~ 853|222 11.21 Zh st 1.00 | 5.00 ~ 1055| 100.00 | TnSY | 5.00 ~ 1267 2.22 11.21

EFE




BRA3—2 EEYITERAIHLBESNDIEEIC F'a?l?’%’o$lﬁ(2/10) _ _REEE | TR 2T
SEREONE | BmEs 011A0692 [ L3 M | PrEHM | AT
) SERMOTIRICHET S 1M ZER A
ﬁg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
= = AN T A\ od = = T A\ = A\ = | =
16 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 633 79.66 | FnLS | 0.oo ~ o000 1.68 8.48 Zhn st 1.00 | 6.00 ~ 7.50 79.56 | TS | .00 ~ 750 1.68 8.48
17 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 633 79.66 | FnLSY | 0oo ~ o000 1.68 8.48 Zhn Lot 1.00 | 6.00 ~ 750 79.56 | LS | .00 ~ 750 1.68 8.48
18 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 650 81.88 | #nst | 000 ~ 000\ 1.73 875 Zhn st 1.00 | 6.00 ~ 7.72 81.88 | #hds\ | 5,00 ~ 7.72| 1.73 875
19 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 650 81.88 | #nst | 000 ~ 000\ 1.73 8.75 Zhn st 1.00 | 6.00 ~ 7.72 81.88 | #hds\ | 5.00 ~ 7.72| 1.73 875
2 100kN/m##BZ%| 1.00 | 000 ~ 009 101.31 |3mZEBzB| — ~ — — — | 100kN/miE# 25| 1.00 | 1057 ~ 1080| 101.81 |3m%E#B2Z| — ~ — — —
Th st 100009 ~ 787 100.00| Ths | o0oo ~ 7.87| 223 11.28 FhList 1.00| 5.00 ~ 1057 100.00| ETNLSY | 5,00 ~ 1080| 2.23 11.28
21 100kN/m#E#BZ%| 1.00 | 000 ~ 009 101.31 |3mZEBzB| — ~ — — — | 100kN/miE# 25| 1.00 | 1057 ~ 1080| 101.81 |3m%E#BZ2Z| — ~ — —
ThList 100009 ~ 787 100.00| ThLs | o000 ~ 7.87| 223 11.28 FhList 1.00| 5.00 ~ 1057 100.00| ETNLSY | 5,00 ~ 1080| 2.23 11.28
29 100kN/m%#8Z%| 1.00 | 000 ~ 060 10886 |3mZEBz3| — ~ — — — | 100kN/miE# 25| 1.00 | 1055 ~ 1227 10886 |3m%E#Bz3%| — ~ — —
ZTh Lt 1.00 | 060 ~ 838 100.00 | EnLst | 000 ~ 838|215 10.89 ZhLst 1.00 | 6.00 ~ 1055| 100.00 | NS | 5.00 ~ 1227|215 10.89
23 100kN/m%E 8z 5| 1.00 | 000 ~ o061 109.02 |3m&EBZB| — ~ — — — | 100kN/MiE# 2z 5| 1.00 | 1055 ~ 1230| 109.02 |3m%E#Ez%| — ~ — — —
Thilst 1.00 | 061 ~ 839 100.00 | ThLs | 000 ~ 839|216 10.89 TnList 1.00| 5.00 ~ 1055 100.00 | ThLSY | 5,00 ~ 1230| 2.16 10.89
24 100kN/m%E#8Z%| 1.00 | 000 ~ 023 10354 |3mZEBZZ| — ~ — — — | 100kN/MiE# 2z 5| 1.00 | 1085 ~ 11.52| 10334 |3m%E#Ez5| — ~ — —
Thilst 1.00 | 023 ~ 8o01| 100.00 | #his | 000 ~ 801|207 10.47 TnList 1.00| 5.00 ~ 1085 100.00 | ThLS | .00 ~ 11.52| 2.07 10.47
25 100kN/m%E#8Z%| 1.00 | 000 ~ 023 10354 |3mZEBZZ| — ~ — — — | 100kN/mMiE# 2z 5| 1.00 | 1085 ~ 11.52| 10334 |3m%x#Ez5| — ~ — — —
Thilst 1.00 | 023 ~ 8o01| 100.00 | #his | 000 ~ 801|207 10.47 ZnList 1.00| 5.00 ~ 1085 100.00 | ThLS | .00 ~ 11.52| 2.07 10.47
% 100kN/m%E#8%%| 1.00 | 000 ~ o001 100.13 |3mZEBZZ| — ~ — — — | 100kN/mMiE#z2 5| 1.00 | 1091 ~ 1094| 10013 |3m%EEEZZ| — ~ — — —
Thilst 100|001 ~ 779 100.00| ThLs | 000 ~ 7.79| 2.06 10.42 TnLlst 1.00| 5.00 ~ 1091 100.00 | TN | 500 ~ 1094| 2.06 10.42
a7 100kN/m%E#8Z2%| 1.00 | 000 ~ o001 100.13 |3mZEBZZ| — ~ — — — | 100kN/miE#Z2 5| 1.00 | 1091 ~ 1094| 10013 |3m%EEEZZ| — ~ — —
Thilst 100|001 ~ 779 100.00| ThLs | 000 ~ 7.79| 2.06 10.42 TnList 1.00| 5.00 ~ 1091 100.00 | TN | 500 ~ 1094| 2.06 10.42
28 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 670 84.59 | FhLs | 000 ~ 000 1.66 840 zhst 1.00| 500 ~ 8350 84.69 | ThUS | 500 ~ 8350 | 1.66 8.40
29 100kN/m%E#BZ%| 1.00 | 0.00 ~ 006 100.84 |3mZEBzZ| — ~ — — — | 100kN/MiE#Z2 5| 1.00 | 1209 ~ 1230| 100.84 |3m%E#zZ| — ~ — — —
Thilst 1.00 | 006 ~ 784 100.00 | ThLs | 000 ~ 784| 1.96 9.90 TnLlst 1.00| 5.00 ~ 1209 100.00 | ThLS | 5,00 ~ 1230| 1.96 9.90
100kN/m%E#8Z%| 1.00 | 000 ~ 054 10803 |3m&EBZZ| — ~ — — — | 100kN/MiE#Z2 5| 1.00 | 1067 ~ 1229| 10803 |3m%x#Ez5| — ~ — — —
50 ZhLlst 1.00 | 054 ~ 833 100.00 | Ths | 000 ~ 833| 211 10.65 Fhst 1.00| 5.00 ~ 1067 100.00 | ThLS | 5,00 ~ 1229 2.11 10.65
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BRA3—2 EEYITERAIHLBESNDIEEIC F'a?l'd’%’o$lﬁ(3/10) _ _REEE | TR 2T
EErIEDME | BMES 011A0692 [ L3 | €3 | PriEth | i A
) SERMOTIRICHET S 1M ZER A
*Eﬁilg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
= = T AN T A\ od = = T A\ = A\ = | =
21 100kN/m%#BZ%| 1.00 | 000 ~ 054 10803 |3mZEBzB| — ~ — — — | 100kN/miE# 25| 1.00 | 1067 ~ 1229| 10803 |3m%E#Bz5%| — ~ — — —
ThList 1.00 | 054 ~ 833 100.00 | ENLS | 000 ~ 833|211 10.65 zhLst 100 600 ~ 1067 100.00 | NS | 5,00 ~ 1229 2.11 10.65
29 100kN/m#E#BZ%| 1.00 | 000 ~ 003 100.48 |3mZEBz3| — ~ — — — | 100kN/miZ#82 5| 1.00 | 1083 ~ 1092 100.48 |3mZE#BZB| — ~ — — —
ThList 100003 ~ 782| 100.00| FnLS | 0oo ~ 782|207 10.49 FhList 1.00| 5.00 ~ 1083 100.00| FNLS | .00 ~ 1092] 2.07 10.49
23 100kN/m#E#BZ 5| 1.00 | 000 ~ 003 100.48 |3mZEBz3| — ~ — — — | 100kN/miZ#82 5| 1.00 | 1083 ~ 1092 100.48 |3mZE#BZB| — ~ — —
ThList 100003 ~ 782 100.00| FnLS | 0oo ~ 782|207 10.49 FhList 1.00| 5,00 ~ 1083 100.00| FNLS | .00 ~ 1092] 2.07 10.49
24 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — —
zhLst 1.00 | 000 ~ 699 88.68 | #=nust | oo ~ ov00| 1.74 878 znsn 1.00| 500 ~ 870 88.68 | #nLSY | 500 ~ 870| 1.74 878
25 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst 1.00 | 000 ~ 699 88.68 | #=nust | oo ~ 000|174 878 znsn 1.00| 500 ~ 870 88.68 | #nLSY | 500 ~ 870| 1.74 878
26 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 660 83.26 | =0 | 000 ~ 660 1.86 9.38 Zhn st 1.00| 600 ~ 811 83.26 | =hH | 5,00 ~ 811| 1.86 9.38
37 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ZTh Lt 1.00 | 0.00 ~ 6.60 83.26 | =0 | 000 ~ 660 1.86 9.38 Zhn Lot 1.00| 600 ~ 811 83.26 | =hH | 5,00 ~ 811 | 1.86 9.38
28 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 730 92.96 | #hst | 000 ~ 000|172 870 FhLst 1.00 | 5.00 ~ 9.40 92.96 | =hst | 5,00 ~ 940 1.72 8.70
39 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 741 94.57 | FhLs | 000 ~ 000 1.77 895 zhst 1.00| 500 ~ 9.61 94.57 | ThUS | 500 ~ 961|177 8.95
40 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
zhs 1.00 | 000 ~ 741 94.57 | FhLs | 000 ~ 000 1.77 895 zhst 1.00| 500 ~ 9.61 94.57 | ThUS | 500 ~ 961|177 8.95
4 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 748 95.51 | #hst | 000 ~ o0o00| 1.70 857 FhLst 1.00| 5.00 ~ 9.92 95.561 | #hst | 5,00 ~ 992 1.70 857
42 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 748 95.51 | #hst | 000 ~ o0o00| 1.70 857 FhLst 1.00| 5.00 ~ 9.92 95.561 | #hst | 5,00 ~ 992 1.70 857
43 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 467 5818 | #=nbst | ooo ~ 467|200 10.10 zhst 100|500 ~ 557 5818 | ThS | 500 ~ 557 | 200 10.10
Y 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 477 59.40 | Fhst | 000 ~ 4.77| 1.97 9.97 FhLst 1.00 | 5.00 ~ 5.59 59.40 | =hst | 500 ~ 559 | 1.97 9.97
45 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
zhs - -~ - — | #hiist - ~ = — — st — — ~ — — | #h st — ~ — — |




BRA3—2 EEYICERATLLEE éhéﬁi%(:%ﬁ‘s‘é$lﬁ(4/1g _ _REEE | TR 2T
EErIEDME | BMES 011A0692 | BT | €3 | PriEth | i A
) SERMOTIRICHET S 1M ZER A
*Eﬁ;lg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
46 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
47 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
48 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
49 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 |1 0.00 ~ 634 79.72 | FnLSY | 000 ~ 634| 2.14 10.84 zhLst 1.00 | 6.00 ~ 997 79.72 | TN | 6.00 ~ 997 214 10.54
50 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
Th st 1.00 |1 000 ~ 634 79.72 | FnLSY | 000 ~ 634| 2.14 10.84 zhLst 1.00 | 6.00 ~ 997 79.72 | TN | .00 ~ 9.97| 214 10.54
51 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — —
Fn Lot 1.00 | 000 ~ 523 65.26 | TS | 000 ~ 523 1.85 9.34 Zhn st 1.00 | 6.00 ~ 5.80 65.26 | Thst | .00 ~ 580| 1.85 9.34
52 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ZTh Lt 1.00 | 0.00 ~ 533 66.53 | TN | 0oo ~ 533 1.79 9.03 Zhn Lot 1.00 | 6.00 ~ 582 66.53 | Ths | .00 ~ 582 1.79 9.03
53 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst 1.00 | 000 ~ 539 67.24 | FNLS | 000 ~ 539|203 10.28 zhst 1.00| 500 ~ 694 67.24 | #nS | 500 ~ 694 2.03 10.28
54 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
Thilst 1.00 | 000 ~ 501 62.45 | Fhst | 000 ~ 501|211 10.68 FhLs 1.00| 6.00 ~ 6.86 62.45 | =hSt | 600 ~ 686|211 10.68
55 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 529 65.93 | Fhst | oo ~ 529| 1.89 9.656 FhLst 1.00 | 5,00 ~ 6.01 65.93 | =hLS | .00 ~ 6.01| 1.89 9.55
56 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 527 65.68 | FhLs | 000 ~ 527| 1.95 9.84 FhLst 1.00| 5.00 ~ 622 65.68 | ThLS | .00 ~ 622 1.95 9.84
57 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 434 54.22 | #nS | 000 ~ 4.34| 1.97 9.98 zhst 1.00| 500 ~ 5.00 54.22 | #hUS | 500 ~ 500| 1.97 9.98
58 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 645 81.26 | #hst | 000 ~ 645| 1.83 9.25 FhLs 1.00| 5.00 ~ 7.76 81.26 | #hst | 5,00 ~ 7.75| 1.83 9.25
59 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 628 7893 | #hLAst | 000 ~ 628] 1.89 9.57 FhLst 1.00| 6.00 ~ 767 78.93 | NS | 5,00 ~ 767 | 1.89 9.57
60 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
ZhLlst 1.00 | 000 ~ 565 70.57 | st | 000 ~ 565 1.93 9.78 ZnLlst 100 600 ~ 6.77 70.67 | EnLS | 5.00 ~ 6.77| 1.93 9.78_




B3 -2 BEWICHERATLLETE éhéﬁi%(:?ﬁl?é%ﬁwnl _ _BREEE | porwlE
SEREONE | BmEs 011A0692 [ ET | M et | e A
) SERMOTIRICHET S 1M ZER A
*Eﬁilg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
= = AN T A\ od = = T A\ = A\ = | =
61 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 7.06 89.66 | #nst | 000 ~ 000 1.77 8.95 Zhn st 1.00 | 6.00 ~ 884 89.66 | ThLSN | 5,00 ~ 884 | 1.77 8.95
62 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 640 80.51 | #=nst | 000 ~ 000| 1.66 841 Zhn Lot 1.00 | 6.00 ~ 768 80.561 | #hH | 5.00 ~ 7.68| 1.66 841
63 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
Fhilst 1.00 | 000 ~ 722 91.82 | #Fhst | 000 ~ o000 1.71 8.65 Zhn st 1.00| 500 ~ 924 91.82 | #hst | 6,00 ~ 924 1.71 8.65
64 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 000 ~ 676 85.47 | #FnLSL | 000 ~ 000\ 1.63 8.25 Zhn st 1.00 | 6.00 ~ 861 85.47 | #hH | 5,00 ~ 861 | 1.63 8.25
65 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
Th st 1.00 | 000 ~ 575 71.94 | FnLS | 000 ~ 575| 1.81 915 Zhn st 1.00 | 6.00 ~ 650 71.94 | LS | 5,00 ~ 650 1.81 915
66 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 762 97.60 | NS | 000 ~ 762|231 11.68 zhLst 1.00| 6.00 ~ 1040 97.60 | =hS | 5,00 ~ 1040| 2.31 11.68
67 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — —
ZTh Lt 1.00 | 000 ~ 613 76.93 | FnLSY | 0oo ~ 613| 1.93 9.77 Zhn Lot 1.00 | 6.00 ~ 7.60 76.93 | TS | .00 ~ 760 1.93 9.77
68 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00| 000 ~ 634 79.67 | #FhLAS | 000 ~ o000 1.66 838 FhLst 1.00 | 5.00 ~ 7.59 79.67 | NS | 5,00 ~ 7.569| 1.66 8.38
69 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 404 50.65 | #=nLst | 000 ~ 404 206 10.43 zhst 1.00| 500 ~ 5.00 50.65 | ThUS | 500 ~ 500\ 2.06 10.43
70 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 326 41.57 | #Fhst | 000 ~ 326| 230 11.63 FhLst 1.00 | 6.00 ~ 527 41.57 | #hs | .00 ~ 527 2.30 11.63
71 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 635 79.79 | st | 000 ~ 000 1.74 882 FhLst 1.00 | 5.00 ~ 743 79.79 | NS | 500 ~ 743| 1.74 882
79 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 635 79.79 | #hLst | 000 ~ 635] 1.90 9.60 FhLst 1.00| 5.00 ~ 7.82 79.79 | NS | 5,00 ~ 7.82| 1.90 9.60
73 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 635 79.79 | #nLs | 000 ~ 635] 1.90 9.60 FhLs 1.00| 5.00 ~ 7.82 79.79 | NS | 500 ~ 7.82| 1.90 9.60
74 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 457 56.96 | #Fnhst | 000 ~ 457| 1.98 10.01 FhLst 1.00 | 5.00 ~ 5.54 56.96 | =hst | 5,00 ~ 554 | 1.98 10.01
75 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 457 56.96 | ThLSY | 000 ~ 457| 1.98 10.01 ZnLlst 1.00 | 5,00 ~ 5.54 56.96 | Thst | 5,00 ~ 554 | 1.98 10.01

EFR




BRA3—2 EEYICERATLLEE éhéﬁi%l:%ﬁ‘s‘é$lﬁ(6/1& _ _REEE | TR 2T
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e TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
76 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 480 59.82 | NS | 0.o0 ~ 480\ 1.80 912 zhLst 1.00 | 6.00 ~ 5.10 59.82 | #hH | 5,00 ~ 5.10| 1.80 912
77 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 480 59.81 | NS | 000 ~ 480\ 1.81 912 zhLst 1.00 | 6.00 ~ 5.10 59.81 | =hdst | 5,00 ~ 5.10| 1.81 912
78 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
Fhilst 1.00| 000 ~ 516 64.29 | #nLst | 000 ~ 516 1.92 9.70 Zhn st 1.00| 500 ~ 593 64.29 | EnLS | .00 ~ 593 | 1.92 9.70
79 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
Fhilst 1.00| 000 ~ 516 64.29 | #FnLst | 000 ~ 516| 1.92 9.70 Zhn st 1.00| 500 ~ 593 64.29 | EnLS | .00 ~ 5953 | 1.92 9.70
50 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
Th st 1.00 | 0.00 ~ 549 68.563 | TN | 0oo ~ o000l 1.75 8.87 Zhn st 1.00 | 6.00 ~ 6.02 68.53 | Thst | .00 ~ 602| 1.75 887
81 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 510 63.58 | FnLs | ooo ~ s510| 1.83 9.26 Zhn st 1.00 | 6.00 ~ 5657 63.58 | Thst | .00 ~ 557 1.83 9.26
52 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ZTh Lt 1.00 | 0.00 ~ 510 63.58 | FnLs | ooo ~ s510| 1.83 9.26 Zhn Lot 1.00| 6.00 ~ 5657 63.58 | ThS | .00 ~ 557| 1.83 9.26
83 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 665 83.93 | #hst | 000 ~ 665| 1.88 9.49 FhLst 1.00| 5.00 ~ 829 83.93 | #hst | 5,00 ~ 829 1.88 9.49
Py 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Zhilst 1.00 | 000 ~ 297 3823 | #hs | 000 ~ 297\ 2.44 12.32 ZnLlst 1.00 | 5.00 ~ 5.81 3823 | #hst | 6,00 ~ 581 | 2.44 12.32
95 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 297 3823 | #FhLst | 000 ~ 297 2.44 12.52 FhLst 1.00 | 6.00 ~ 5.81 3823 | #hLS | .00 ~ 581 | 2.44 12.32
%6 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst 1.00 | 000 ~ 434 54.20 | FhLs | 000 ~ 434 1.98 9.98 zhst 1.00| 500 ~ 5.00 54.20 | ThUS | 500 ~ 500\ 1.98 9.98
87 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 682 86.22 | #Fhst | 0oo ~ 682|278 14.07 TnList 1.00 | 500 ~ 1329 86.22 | #hst | 5,00 ~ 1329 2.78 14.07
58 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #hust - ~ — — —
59 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #hst - ~ — — —
90 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Zzhst - -~ - — | #hiist - ~ = — — ZhnLst — — ~ — — | #h st — ~ — — |




B3 —2 BEYIERTILEE éhé@i%l:ﬁﬁ'é‘é%ﬁoﬁg _ _BREEE | porwlE
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ﬁg TREOBEBOSILEHOKRES TEFEDOHBEEILIOKRES TEFEOBRBOEILHDOKRES TREOHBSSLADKRES
91 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
92 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
93 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
94 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
95 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - —| 2t -~ = — — znsn — — ~ — — | #hst - ~ — — —
9% 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
97 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zh st o — | 2 st — ~ = — — znLsn — — ~ — — | 2 st - ~ — — —
98 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #h st - ~ — — —
99 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #hust — ~ — — —
100 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
zhs 1.00 | 000 ~ 592 74.11 | #FNLS | 000 ~ 592| 1.82 9.20 zhst 1.00| 500 ~ 6.79 74.11 | #nS | 500 ~ 679 1.82 9.20
101 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 630 79.11 | 0ot | 000 ~ 630| 1.83 9.23 FhLst 1.00 | 5.00 ~ 7456 79.11 | 0S| 5.00 ~ 7.45| 1.83 9.23
102 100kN/m%E#8Z2%| 1.00 | 000 ~ 005 100.76 |3m&EBZZ| — ~ — — — | 100kN/miE#Z2 5| 1.00 | 1057 ~ 1070| 100 .76 |3m%E#z5| — ~ — — —
Thilst 100|005 ~ 784 100.00| ThLs | 000 ~ 784|223 11.28 TnList 1.00| 5.00 ~ 1057 100.00 | ThLHS | .00 ~ 1070| 2.23 11.28
103 100kN/m%E#8Z%| 1.00 | 000 ~ 114 11723 |3m&EBZE| — ~ — — — | 100kN/MiE# 2z 5| 1.00 | 1061 ~ 1436| 11723 |3mZx#Ez5| — ~ — — —
Thilst 1.00 | 114 ~ 893 100.00 | =hst | 000 ~ 893|213 10.74 TnList 1.00| 5.00 ~ 1061 100.00| TN | 6,00 ~ 1436| 2.13 10.74
104 100kN/m%E#BZ2%| 1.00 | 000 ~ 114 11723 |3mZEBZB| — ~ — — — | 100kN/mMiE# 25| 1.00 | 1061 ~ 1436| 11723 |3mZx#Ez5| — ~ — — —
Thilst 1.00 | 114 ~ 893 100.00 | =hist | 000 ~ 893|213 10.74 TnLlst 1.00| 5.00 ~ 1061 100.00| TN | .00 ~ 1436| 2.13 10.74
106 100kN/m%E#BZ5| 1.00 | 000 ~ 090 11345 |3mZEBZZ| — ~ — — — | 100kN/MiE# 25| 1.00 | 1057 ~ 1332| 11345 |3mEx#Bz5| — ~ — —
ZhLlst 1.00 | 090 ~ 868| 100.00 | Fnhils | 000 ~ 868| 2.14 10.84 Fhst 1.00 ] 5.00 ~ 1057 100.00 | TnSt | 5.00 ~ 1332| 2.14 ]0.84_
HFER
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106 100kN/m#z#Z5| 1.00 | 000 ~ 090 11345 |3mE#EZE — ~ — — — | 100kN/miZ#82 5| 1.00 | 1057 ~ 1332 11345 |3mZ8BzB| — ~ — — —
ThList 100|090 ~ 868 100.00| ThLs | 000 ~ 868| 2.14 10.84 FhList 1.00| 5.00 ~ 1057 100.00| ETNLSY | 500 ~ 1332| 2.14 10.84
107 100kN/m#z#Z5| 1.00 | 000 ~ 090 11352 |3m&E#BZE — ~ — — — | 100kN/miE# 25| 1.00 | 1056 ~ 1321 113562 |3mE#B253| — ~ — — —
ThList 100090 ~ 869 100.00| ThLls | 000 ~ 869|223 11.26 FhList 1.00| 5.00 ~ 1056 100.00 | ETNLSY | 5,00 ~ 1321| 2.23 11.26
108 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — —
ThList 1.00 | 000 ~ 710 90.24 | #=hLs | 000 ~ 710)| 1.95 9.87 zhLst 1.00 | 600 ~ 1002 90.24 | =hS | 5,00 ~ 1002 1.95 9.857
109 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 673 84.99 | #FnLS | 000 ~ 000| 1.75 8.84 Zhn st 1.00 | 6.00 ~ 815 84.99 | =hH | 5.00 ~ 815 1.75 8.84
110 100kN/m##8Z%| 1.00 | 000 ~ 046 106.83 |3mZEBz3| — ~ — — — | 100kN/miE#z2 5| 1.00 | 1057 ~ 11.83| 106.83 |3m%E#Ez3%| — ~ — — —
Th st 100|046 ~ 825 100.00| ThLs | 000 ~ 825| 223 11.29 FhList 1.00| 5.00 ~ 1057 100.00 | ETNLHSY | 5,00 ~ 1183| 2.23 11.29
111 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — —
ThList 1.00 | 000 ~ 751 95.96 | TS | ooo ~ 751|228 11.54 Zhn st 1.00 | 500 ~ 1002 95.96 | =hLS | 5,00 ~ 1002| 2.28 11.54
112 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — —
ZTh Lt 1.00 | 0.00 ~ 632 79.46 | FnLs | 000 ~ 632)| 2.10 10.63 ZhLst 1.00 | 6.00 ~ 942 79.46 | LY | .00 ~ 942 210 10.63
113 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 568 70.98 | #nLs | 000 ~ 568 2.04 10.30 FhLst 1.00| 5.00 ~ 748 70.98 | NS | 5.00 ~ 7.48| 2.04 10.30
114 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
Ths 100|000 ~ 382 4802 | #=nbst | 000 ~ 382|213 10.79 zhst 1.00| 500 ~ 507 4802 | ThUS | 500 ~ 507|213 10.79
115 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
zhs 100 | 000 ~ 447 5581 | #=nbst | 000 ~ 447 1.99 10.06 zhst 1.00| 500 ~ 525 55.81 | ThS | 500 ~ 525| 1.99 10.06
116 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst 1.00 | 000 ~ 447 5581 | #=nbst | 000 ~ 447 1.99 10.06 zhst 1.00| 500 ~ 525 55.81 | ThS | 500 ~ 525| 1.99 10.06
117 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
Thilst 1.00 | 000 ~ 586 73.35 | EhLS | 000 ~ 586 1.92 9.69 FhLst 1.00 | 5.00 ~ 7.04 73.35 | NS | 500 ~ 7.04| 1.92 9.69
118 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 586 73.35 | EhLAs | 000 ~ 586 1.92 9.69 FhLs 1.00 | 5.00 ~ 7.04 73.35 | NS | 500 ~ 7.04| 1.92 9.69
119 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 100|000 ~ 442 55,19 | #nst | 000 ~ 442|207 10.46 zhst 1.00| 500 ~ 559 55.19 | ThUS | 500 ~ 559|207 10.46
190 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
ZhLlst 1.00 | 000 ~ 442 55.22 | #hs | 000 ~ 442 2.07 10.46 ZnLlst 1.00 | 5.00 ~ 5.59 55.22 | #hst | 5,00 ~ 559 | 2.07 10.46

EFE
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191 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 443 5525 | =N | 000 ~ 443 2.07 10.45 Zhn st 1.00 | 6.00 ~ 559 55.25 | #hS | 5.00 ~ 559 | 2.07 10.45
799 100kN/mM%E{BZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 | 0.00 ~ 443 5525 | =N | 000 ~ 443 207 10.45 Zhn Lot 1.00 | 6.00 ~ 559 55.25 | #hS | 5.00 ~ 5569 | 2.07 10.45
193 100kN/mM%BZ 5 — -~ = —|3mZiBRB| — ~ - — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — —
ThList 1.00 1 000 ~ 711 90.37 | #F0US | 000 ~ 711 1.97 9.96 Zhn st 1.00 | 6.00 ~ 988 90.37 | #hLS | 500 ~ 9.88| 1.97 9.96
194 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
ThList 1.00 1 000 ~ 711 90.37 | #F0S | 000 ~ 711 1.97 9.96 Zhn st 1.00 | 6.00 ~ 988 90.37 | #hS | 500 ~ 9.88| 1.97 9.96
195 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
Fn Lot 1.00 | 000 ~ 6.00 75.16 | Fnhs | 000 ~ 600 208 10.50 Zhn st 1.00 | 6,00 ~ 844 76.16 | NS | 5,00 ~ 844 | 208 10.50
196 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — —
Fn Lot 1.00 | 000 ~ 6.00 75.16 | FnhLsY | 000 ~ 600 208 10.50 Zhn st 1.00 | 6,00 ~ 844 76.16 | NS | 5,00 ~ 844 | 208 10.50
197 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — —
ZTh Lt 1.00 | 0.00 ~ 6.96 8825 | #nsL | 000 ~ 0.00| 1.69 8.66 Zhn Lot 1.00| 6.00 ~ 873 88.25 | #hH | 5,00 ~ 873 | 1.69 8.56
198 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 696 88.25 | #hst | 0oo ~ o000 1.69 8566 FhLst 1.00| 5.00 ~ 873 8825 | #hst | 5,00 ~ 873 1.69 8.56
129 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 643 80.99 | #hst | 000 ~ o000 1.69 8656 FhLs 1.00 | 5.00 ~ 7.66 80.99 | #hst | 5,00 ~ 766 1.69 8.55
130 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
zhs 1.00 | 000 ~ 647 81.43 | #=nbst | 000 ~ o000 1.73 874 zhst 1.00| 500 ~ 7.66 81.43 | ThS | 500 ~ 766\ 1.73 874
131 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst 1.00 | 000 ~ 590 73.91 | #FNnLS | 000 ~ 590 | 2.03 10.25 zhst 1.00| 500 ~ 7.82 73.91 | #nS | 500 ~ 7.82| 2.03 10.25
132 100kN/ Mm% A5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
Ths 1.00 | 000 ~ 590 73.91 | #FnLS | 000 ~ 590 | 2.03 10.25 zhst 1.00| 500 ~ 7.82 73.91 | #nS | 500 ~ 7.82| 2.03 10.25
133 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 468 5828 | #=nbst | ooo ~ 468|225 11.37 zhst 1.00| 500 ~ 749 5828 | ThUS | 500 ~ 749|225 11.37
194 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths 1.00 | 000 ~ 468 5828 | #nbst | ooo ~ 468|225 11.37 zhst 1.00| 500 ~ 7.49 5828 | ThUS | 500 ~ 749|225 11.37
135 100kN/ Mm% Z 5 — -~ = — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — —
Zh Lt 1.00 | 000 ~ 766 98.11 | #Fhbist | 000 ~ 766|235 11.87 ZhLs 1.00 | 5,00 ~ 1067 9811 | #hst | .00 ~ 1067| 2.35 11.87
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136 100kN/ Mm% 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
ThList 1.00 | 0.00 ~ 766 98.11 | #hList | 0.oo ~ 7.66| 235 11.87 Zhn st 1.00 | 500 ~ 1067 9811 | #hbst | .00 ~ 1067 2.35 11.87
137 100kN/m#E#BZ 5| 1.00 | 000 ~ 031 104.65 |3mZEBzB| — ~ — — — | 100kN/miE# 25| 1.00 | 1079 ~ 1162| 104.65 |3mEB2Z| — ~ — — —
ThList 1.00 | 031 ~ 809 100.00 | ENLS | 000 ~ 809| 251 11.65 zhLst 100 600 ~ 1079 100.00 | EnLSY | 5,00 ~ 1162 2.31 11.65
138 100kN/m#E#BZ 5| 1.00 | 000 ~ 031 104.65 |3mZEBzB| — ~ — — — | 100kN/miE# 25| 1.00 | 1079 ~ 1162| 104.65 |3mZE#BZZ| — ~ — —
ThList 1.00 | 031 ~ 809 100.00 | ENLS | 000 ~ 809| 251 11.65 zhLst 100 600 ~ 1079 100.00 | EnLSY | 5,00 ~ 1162 231 11.65
139 100kN/m#E#BZ%| 1.00 | 000 ~ 048] 107.09 |3mZEBz3| — ~ — — — | 100kN/miE# 25| 1.00 | 1200 ~ 1254| 10709 |3mZE#Ez2Z| — ~ — —
s 1.00 | 048 ~ 826 100.00 | EnLst | 0.00 ~ 826| 2.06 10.36 zhLst 100 6.00 ~ 1100| 100.00 | NS | 5.00 ~ 1254 2.05 10.36
140 100kN/ Mm% 5 — -~ = —|3mZiBZRB| — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - —| 2t -~ = — — znsn — — ~ — — | #hst - ~ — — —
141 100kN/mM%EBZ 5 — -~ = —|3mZiBRB| — ~ = — — | 100kN/mM##8 2% — - ~ — —|3mZEBZB| — ~ — — —
zhLst - -~ - — | #h st -~ = — — znsn — — ~ — — | #hst - ~ — — —
142 100kN/mM%EBZ 5 — -~ = —|3mZiBZRB — ~ = — — | 100kN/mM%#8 2% — - ~ — —|3mZEBZRB| — ~ — — —
zh st o — | 2 st — ~ = — — znLsn — — ~ — — | 2 st - ~ — — —
143 100kN/ Mm% A5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thst - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #h st - ~ — — —
144 100kN/ Mm% Z 5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Ths - -~ - — | #hiist -~ = — — ZhnLst — — ~ — — | #hust - ~ — — —
145 100kN/ Mm% Z 5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 662 83.52 | #Fhst | 0oo ~ 662|271 13.71 ZnList 1.00| 500 ~ 1153 83.62 | #hS | 5,00 ~ 11.53| 2.71 13.71
146 100kN/ Mm% A5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 662 83.52 | #Fhst | 0oo ~ 662|271 13.71 TnLlst 1.00| 500 ~ 1153 83.62 | #hLS | 5,00 ~ 1153 2.71 13.71
147 100kN/ Mm% A5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 587 7349 | FnLS | 000 ~ 587 275 13.91 TnList 1.00| 500 ~ 1001 73.49 | NS | 5,00 ~ 1001|275 13.91
148 100kN/ Mm% Z 5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 587 7349 | FhLS | 000 ~ 587 2.75 13.91 TnList 1.00| 500 ~ 1001 73.49 | NS | 5,00 ~ 1001|275 13.91
149 100kN/ Mm% Z 5 — -~ - — |3mEEZB — ~ — — — | 100kN/mM%E#Z 5 — - ~ — —|3mEEZS] — ~ — — —
Thilst 1.00 | 000 ~ 487 60.70 | Fhist | 000 ~ 000 1.71 8.66 FhLst 1.00| 5.00 ~ 5.13 60.70 | #hLS | 600 ~ 513 1.71 8.66
100kN/ Mm% Z 5 ~ 3mEBZ D ~ 100kN/mM%E#Z 5 ~ ImERZD ~
zhs ~ ZhnLst ~ st ~ Zhust ~




